THE CURIOUS INCIDENT OF THE DOG IN THE NIGHT-TIME

THE ENDING – READING GUIDE 1

CHAPTER 233 (pp 245-268)

Read the chapter again and say whether the following statements are TRUE or FALSE by checking the right box. Then choose 15 statements you marked FALSE, HIGHLIGHT what needs to be corrected in each of them and (in the same box as the statement, just underneath it) rephrase them to make them TRUE. If you correct more than 15 statements, the ones that are incorrectly rephrased will ALL be counted – be CAREFUL! You will be given a limited amount of time.

	NB
	STATEMENT
	T
	F
	2 if correct
	-1 if incorrect
	-2 if no answer
	+3 if correct justificat°

	1
	That morning, Christopher has boiled tomatoes and green beans for breakfast.


	
	
	
	
	
	

	2
	Mr Shears is very happy about Christopher being there.


	
	
	
	
	
	

	3
	Judy decides to take the day off to be with Christopher.


	
	
	
	
	
	

	4
	Judy and Christopher take the 206 bus to go shopping.


	
	
	
	
	
	

	5
	Things go well that morning at the shopping center.


	
	
	
	
	
	

	6
	Christopher’s new pyjamas are blue and purple.


	
	
	
	
	
	

	7
	Christopher is worried about his upcoming exam.


	
	
	
	
	
	

	8
	Christopher tries to see the stars from the street but can’t because of light pollution.


	
	
	
	
	
	

	9
	Christopher’s main feeling towards Mr Shears is hatred.


	
	
	
	
	
	

	10
	That night, Christopher leaves the apartment and stays in the street awhile.


	
	
	
	
	
	

	11
	Judy is very angry about the whole thing.


	
	
	
	
	
	

	12
	Judy buys some movies and food for Toby the next day.


	
	
	
	
	
	

	13
	Christopher focuses on the cars outside to keep his mind from being idle.


	
	
	
	
	
	

	14
	Judy takes Christopher to a park and tells him about postponing his A-level.


	
	
	
	
	
	

	15
	Christopher listens to a music station on the radio so that he doesn’t hear Judy and Roger arguing about him.


	
	
	
	
	
	

	16
	Judy decides to send Christopher back to his father.


	
	
	
	
	
	

	17
	It usually takes over 3 hours to get from London to Swindon.


	
	
	
	
	
	

	18
	Upon getting home, Christopher goes straight to his room and barricades himself.


	
	
	
	
	
	

	19
	Judy and Ed have a conversation about the situation.


	
	
	
	
	
	

	20
	They decide Ed will stay with his employee while things calm down.


	
	
	
	
	
	

	21
	Christopher is so obsessed with his A-level he feels physically sick.


	
	
	
	
	
	

	22
	Christopher can’t eat or sleep because of his A-level.


	
	
	
	
	
	

	23
	The picture on page 256 is that of the bus he takes to go to school that morning.


	
	
	
	
	
	

	24
	Christopher has a choice and decides to take the first part of his exam that day because he feels really up to it.


	
	
	
	
	
	

	25
	Things don’t go as well as Christopher wants at first and he feels he could get extremely violent about it.


	
	
	
	
	
	

	26
	He still refuses to speak to his father.


	
	
	
	
	
	

	27
	He’s better prepared for the second part of his exam, thanks to Reverend Peters.


	
	
	
	
	
	

	28
	That night, Roger comes to get his car back and talk to Judy.


	
	
	
	
	
	

	29
	On the third day, he solves a math problem that is added at the end of the book, as an appendix, because he didn’t think everybody would want to read it.


	
	
	
	
	
	

	30
	That evening, Christopher finally talks to his father.


	
	
	
	
	
	

	31
	There are some indications that Judy is suffering from depression.


	
	
	
	
	
	

	32
	Christopher and Judy move into a comfortable well-equipped apartment.


	
	
	
	
	
	

	33
	Christopher remembers this period as a good one.


	
	
	
	
	
	

	34
	Because Judy works and Christopher can’t be alone, he has to spend part of each afternoon at his father’s.


	
	
	
	
	
	

	35
	Toby dies at that point.


	
	
	
	
	
	

	36
	Ed gets Christopher a Labrador to try and regain his confidence.


	
	
	
	
	
	

	37
	Christopher gets an A on his exam.


	
	
	
	
	
	

	38
	Christopher and his father work on growing flowers as part of their project.


	
	
	
	
	
	

	39
	Christopher plans on taking more advanced exams in math and biology and acing them.


	
	
	
	
	
	

	40
	Christopher wants to become an astronaut.


	
	
	
	
	
	

	
	TOTAL: …………… / 125 → …………… / 20
	
	
	
	
	
	


